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Q6. __________ is the synonym of "MOROSE". 
 

A. Happy B. Rough 

C. Depressed D. Cheer 

 

Q7. __________ is the antonym of "SUMMIT". 
 

A. Present B. Base 

C. Peak D. Crown 

 

Q8. Identify the meaning of the idiom "spill the beans". 
 

A. Gossip around B. Reveal secret information unintentionally 

C. Talk about someone who is not present there D. Perform an unwanted task 

 

Q9. The sentence has an incorrect phrase, which are shown in bold and underlined. Select the 

option that is the correct phrase to be replaced so that the statement is grammatically 

correct. 

"Pritam asked the team if they thought he was right and the team answered that he did". 
 

A. that he did right B. that they did 

C. that was right D. that they think 

 

Q10. Complete the sentence by choosing the correct form of the verb given in brackets. 

 

I used to___ (play) chess after work. 
 

A. play B. played 

C. playing D. be playing 

 

Q11. Who is the Indian gymnast who has been chosen as a Barbie Role Model by the US-based 

toy maker Mattel Inc. 
 

A. Mandira Chowdhury B. Praniti Das 

C. Aruna Reddy D. Dipa Karmakar 
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Q11. =: .?1$I0 �?/(?}� �L( :P �?9O 
/Oर1�? �ी �?लL(? �(/?ा$? �� +(I /P�ल ��� �?1? -?-I 1Kल /Q!ल �O  z+ /O �J(? �0? :P। 
 

A. //ं?1? �L/1I B. �#-? ??9 

C. 
y#? 1Oड⅍!I D. ?I+? �/??�1 
 

Q12. _____________ was the first person to put forward "drain of wealth" theory. In this theory 

he stated that the Britain was completely draining India. 
 

A. Jawaharlal Nehru B. Dadabhai Naoroji 

C. R.C. Dutt D. M.K. Gandhi 

Q12. _____________ "'( �ी �(�?9I" �9द♍?�$ �K �}$J$ �1(O =?लO +:लO }0�ि %O। �9 �9द♍?�$ /O �m:ो䬂(O �:? �� �ि�O(, .?1$ �K 
+K1I $1: 9O �� �?ल �1 1:? :P। 

 

A. �=?:1 ल?ल 0O:z B. ????.?� 0L1K�I 

C. �1.9I. ?्䵈 D. �/. �O . �?ं/I 
 

Q13. Kiran Desai won the Man Booker Prize for the book _____________. 
 

A. Life of Pi B. The White Tiger 

C. Last Orders D. The Inheritance of Loss 

Q13. ��1# &O9?� �K _____________ (?/� +J}$� �O  �ल� /P( -J�1 +J1}�?1 �/ल?। 
 

A. ल?�, �फ़ +?� B. ? व㕍:?�� �?��1 

C. ल?}� �!?9? D. �m:O91�Om9 �फ़ लI9 

 

Q14. Kanha national park is located at _________________. This park was created in 1955 and 

is a largest park in central India. The park was created to save most of the endangered 

species. 
 

A. Chhattisgarh B. Madhya Pradesh 

C. Maharashtra D. Odisha 
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Q14. �?m:? 1?�रI0 �o?( _________________ /O �}%$ :P। 0: �o?( 1955 /O -(?0? �0? %? �1 0: /o0 .?1$ �? 9-9O -)? 
�o?( :P। �9 �}M&( �K 
�'�?�> लJ्䵎�?0 �??�$0ो䬂 �K -�?(O �O  �ल� -(?0? �0? %?। 

 

A. �्䵈I9�? B. /o0 �?O> 

C. /:?1?�र D. �]I9? 
 

Q15. ___________along with Mohali and Chandigarh is called Tricity. This city is also known 

as satellite city of the Union Territory of Chandigarh. 
 

A. Panchkula B. Panipat 

C. Pinjore D. Palwal 

Q15. /K:?लI �1 ��!I�? �O  9?%-9?% ___________ �K र?��9�I �:? ??$? :P। �9 >:1 �K 9�  >?�9$ �&O> ��!I�? �? �+्䵇: 
>:1 .I �:? ??$? :P। 

 

A. +�ं�I ल? B. +?0I+? 

C. ++�ंL1 D. +ल=ल 

 

Q16. ____________is an ancient and historic city in Haryana. This city is also known as the 

cast-off capital as it is the global centre for recycling textiles. 
 

A. Hisar B. Kurukshetra 

C. Panipat D. Bhiwani 

Q16. ____________ :र10?#? �? �� �?�I( �1 ��$:?�9� >:1 :P। =ኚ验 र19?��ल �1(O �? =P�?� �O � :K(O �O  �?1# �9 >:1 �K 
�?}�-�, �P �+�ल �O  (?/ 9O .I ??(? ??$? :P। 

 

A. /:9?1 B. �I y्䵌O्䵔 

C. +?0I+? D. भ.=?0I 
 

Q17. Pandu Pindara is an ancient religious village. It gets its name from Mahabharata. 

According to epic, it is the place where the Pandavas offered pinds to their forefathers. 

This village is in the ________ district of Haryana. 
 

A. Rohtak B. Jind 

C. Panipat D. Hisar 
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Q17. +?�!J �+�!?1? �� �?�I( '?�/ा� �?�= :P। �9�? (?/ /:?.?1$ 9O �/ल? :P। /:?�?}0 �O  
(J9?1, 0: =: ?�: :P ?:?� +?�!=ो䬂 (O 
+(O 
+K=ा?ो䬂 �? �+�! &?( ��0? %?। 0: �?�=, :र10?#? �O  ________ �?लO /O :P। 

 

A. 1K:?� B. �I?ं 

C. +?0I+? D. /:9?1 
 

Q18. The Centre's National Institute of Ayurveda (NIA) at Jaipur will help a similar institute to 

be set-up in ___________________, in Haryana. 
 

A. Jind B. Panchkula 

C. Kurukshetra D. Karnal 

Q18. ?0+J1 /O �O �I0 1?�रI0 �0J=O& 9�9%?( (NIA), :र10?#? �O  __________/O �9O :I �� 9�}%?( �ी }%?+(? �1(O �O  �ल� /&& 
�1O�?। 

 

A. �I?ं B. +�ं�I ल? 

C. �I y्䵌O्䵔 D. �10?ल 

 

Q19. According to a Greenpeace report, which was the most polluted capital city in the world in 

2018? 
 

A. Delhi B. Beijing 

C. Dhaka D. Kaula Lampur 

Q19. ्䵇I(+I9 �ी �� र1+K�ा �O  
(J9?1, 2018 /O &J�(0? �? 9-9O �&K�?$ 1??'?(I->:1 �L( 9? %?? 
 

A. /?ल㉍लI B. -I��ं� 

C. "?�? D. �Lल? ल?/+I1 
 

Q20. As per the Swachh Survekshan-2019 findings, ________ is the cleanest city in Haryana 

and second cleanest in North India. 
 

A. Jhajjar B. Jind 

C. Karnal D. Kurukshetra 
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Q20. }=चᩍ� 9=O�#-2019 �O  +र1#?/ो䬂 �O  
(J9?1, ________ :र10?#? /O 9-9O }=चᩍ� >:1 �1 �m1 .?1$ /O &K91? 9-9O }=चᩍ� >:1 
:P। 

 

A. �जᱍ�1 B. �I?ं 

C. �10?ल D. �I y्䵌O्䵔 
 

Q21. Which religious place of Haryana recently figured in a list of 30 Swachh Iconic Places 

(SIP) drawn up by the Union Ministry of Drinking Water and Sanitation? 
 

A. Gurudwara Nada sahib B. Sannihit Sarovar 

C. Mata Mansa Devi D. Brahma Sarovar 

Q21. :र10?#? �O  ��9 '?�/ा� }%ल �K :?ल :I /O �O �I0 +O0?ल �1 }=चᩍ�$? /�}?ल0 �?1? $P0?1 �ी �� 30 }=चᩍ� ��$�?$ }%?(ो䬂 
(SIP) �ी 9K�I /O >?�/ल ��0? �0? :P? 

 

A. �Iyद♍=?1? 0?!? 9?/:- B. 90-0/:? 91K=1 

C. /??? /09? ?O=I D. }}/ 91K=1 
 

Q22. Haryana stood _______ in the second edition of the Khelo India Youth Games, in January 

2019. 
 

A. Second B. First 

C. Third D. Fourth 

Q22. ?(=1I 2019 /O ?OलK ���!0? 0K% �Oo9 �O  &K91O 9�}�1# /O :र10?#? _______ 1:?। 
 

A. ?9ू1? B. �-/ 

C. ?I91? D. �L-? 
 

Q23. The origin of this dance form is Mahabharata. While dancing, some dancers carry large 

Daphs edged with frills of bright color fabric while others carry sticks in their hand. The 

name of this dance is ____________. 
 

A. Raas Leela B. Dhamal 

C. Ghoomar D. Saang 
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Q23. �9 (Lत⑍0 z+ �ी �त⑍+�m /:?.?1$ 9O :I� :P। (Lत⑍0 �1$O 9/0, �J � ($ा� :?% /O "Kल �ल� 1:$O :ै䠂 �?(�O  ��(?1O �/�ीलO 1�� �O  �+)O �O  
�?ल1 ल�O :K$O :ै䠂 ?-�� 
m0 ($ा� :?% /O ल? I �ल� 1:$O :ै䠂। �9 (Lत⑍0 �? (?/ ____________ :P। 

 

A. 1?9 लIल? B. //?ल 

C.  ू/1 D. 9?ं� 

 

Q24. Chetar Chaudas Mela is held in ____________annually. In this fair, people offer pinds to 

the ancestors just like Yudhisthiar had offered 'pinds' in memory of all their relatives 

killed in the Mahabharata war. 
 

A. Gurugram B. Kurshethra 

C. Panipat D. Pehowa 

Q24. ____________ /O :1 9?ल �O$1 �L&9 /Oल? ल�$? :P। �9 /OलO /O, लK�  I� �9I $1: 
+(O +K=ा?ो䬂 �? �+�!&?( �1$O :ै䠂 �?9 

$1: 0J�'�?1 (O /:?.?1$ 0Jद♍ /O /?1O �� 9.I र1�$O&?1ो䬂 �ी 0?& /O '�+�!' &?( ��0? %?। 
 

A. �Iy्䵇?/ B. �I y्䵌O्䵔 

C. +?0I+? D. +O:K=? 
 

Q25. The poet who was known as 'Surya Kavi' of Haryanvi music genres Raagni and Saang is 

_________. The poet is also regarded as the Shakespeare of Haryana. 
 

A. Dada Lakhmi Chand B. Dayachand Mayna 

C. Nek Chand Saini D. Jasraj 

Q25. _________ 1?�(I �1 9?�� (?/� :र10?#=I 9��I$ >P�ल0ो䬂 �O  '9K0ा ��=' �O  (?/ 9O />:J1 ��= :ै䠂। �9 ��= �K :र10?#? �? 
>O]9�+01 .I /?(? ??$? :P। 

 

A. ???? ल�/I �ं? B. ?0?�ं? /00? 

C. 0O� �ं? 9P0I D. �91?� 

 

Q26. ______________is a Hindi poet who was awarded the title "State poet of Haryana" when 

Haryana became a new state. 
 

A. Pt. Neki Ram B. Bhai Parmanand 

C. Khusiram Sharma D. Anup Chand Aftab 
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Q26. _____________ �� �:�&I ��= :ै䠂 �?m:O ":र10?#? �? 1?जᱍ0 ��=" �ी �+?�' 9O 9o/?�($ ��0? �0? ?- :र10?#? �� (0? 
1?जᱍ0 -(?। 

 

A. +ं)!? 0O�I 1?/ B. .?� +1/?0?ं 

C. �I9I1?/ >/?? D. 
0+ू �ं? �,??- 
 

Q27. ____________ is a renowned poet who took active part in Bhoodan Movement. This poet 

is from Hissar. He used his songs to deliver the message of Vinoba Bhave. 
 

A. Bhai Parmanand B. Khushiram Sharma 

C. Uday Bhanu Hans D. Anupchand Aftab 

Q27. ____________ �� ��9द♍ ��= :ै䠂 �?m:ो䬂(O .K�?( ��&Kल( /O 9�ि0 .K�/�? �(.?� %I।0: ��=, �:9?1 �O  1:(O =?लO :ै䠂। �m:ो䬂(O 
�=(K-? .?=O �? 9�&O> +:I��?(O �O  �ल� 
+(O �I$ो䬂 �? �}$O/?ल ��0?। 

 

A. .?� +1/?0?ं B. YI>I 1?/ >/?? 

C. �?0 .?0I :ं9 D. 
0+ू �ं? �,??- 
 

Q28. The Aravalli mountain range is situated in the __________ part of Haryana. 
 

A. Southern B. Northern 

C. Eastern D. Central 

Q28. 
1?=लI +=ा$ श㙍L�?ल? :र10?#? �O  __________ .?� /O �}%$ :P। 
 

A. ?्䵌्䵌#I B. �्䵈1I 

C. +=ूी D. /o0 

 

Q29. ________________ river is one of the main tributaries of Ghaggar River. It flows in the 

Panchkula district and confluences with Ghaggar river near Pinjore. 
 

A. Saraswati B. Tangri 

C. Kaushalya D. Markanda 
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Q29. ________________ (&I  _�1 (&I �ी /J_0 �+(�&0ो䬂 /O 9O �� :P। 0: +���J ल? �?लO /O -:$I :P �1 �+�?K1 �O  +?9  _�1 
(&I /O �/ल$I :P। 

 

A. 91}=?I B. �?ं�1I 

C. �L>ल㉍0? D. /?�ं! 
 

Q30. _____________ and ____________ are the major crops grown in Sonepat district. The 

soil in this district is sandy but, fertile. 
 

A. Wheat, paddy B. Paddy, sunflower 

C. Wheat, jowar D. Sugarcane, vegetables 

Q30. _____________ �1 ____________ 9K(I+$ �?लO /O ��?� ??(O =?लI �/J? ,9लO :ै䠂। �9 �?लO �ी �/्䴾I -लJ� लO��( 
�+??� :P। 

 

A. �O:ंू, /?0 B. /?0, 90ू?/I�I 

C. �O:ंू, जᱍ=?1 D. �m0?, 9���0?ं 
 

Q31. ___________river is known as Aruna in ancient time. It is a seasonal river, which brings 

extensive floods during monsoon. 
 

A. Saraswati B. Tangri 

C. Kaushalya D. Markanda 

Q31. ___________ �K �?�I( �?ल /O 
y#? �O  (?/ 9O ??(? ??$? %?। 0: �� /L9/I (&I :P, ?K /?(9K( �O  &L1?( }0?+� -?? ल?$I 
:P। 

 

A. 91}=?I B. �?ं�1I 

C. �L>ल㉍0? D. /?�ं! 
 

Q32. The___________ and _______________ of states and union territories have similar power 

and functions at the state level as that of the President of India at Union level. 
 

A. Governor, Lieutenant-governors B. Chief Minister, Governor 

C. Chief Minster, Deputy Chief Minister D. Chief Minister, Leader of the opposition party 
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Q32. 1?जᱍ0ो䬂 �1 �O � >?�9$ �&O>ो䬂 �O  ___________ �1 _______________ �O  +?9 1?जᱍ0 }$1 +1 =:I 
�'�?1 �1 �?0ा 
�/ल$? :P, ?K �O � }$1 +1 .?1$ �O  1?�र+�$ �K �/ल$? :P। 

 

A. 1?जᱍ0+?ल, �+-1?जᱍ0+?ल B. /I_0/्ं䵔I, 1?जᱍ0+?ल 

C. /I_0/्ं䵔I, �+/I_0/्ं䵔I D. /I_0/्ं䵔I, +=+्䵌I ?ल �O  0O?? 
 

Q33. The current Vidhan Sabha of Haryana is the thirteenth Vidhan Sabha since formation of 

Haryana. How many parliamentary chambers are there in Haryana Vidhan Sabha? 
 

A. One B. Two 

C. Three D. Four 

Q33. :र10?#? �ी =$ा/?( �='?(9.?, :र10?#? �O  � ( �O  -?& 9O $O1:=K �='?(9.? :P। :र10?#? �='?(9.? /O ��$(O 9�9&I0 �� :ै䠂? 
 

A. �� B. ?K 

C. ?I0 D. �?1 
 

Q34. Shanno Devi was the _________ woman speaker of the Haryana Vidhan Sabha. She was 

in the position from 6 December 1966 to 17 March 1967. 
 

A. First B. Second 

C. Third D. Fifth 

Q34. >m(K &O=I, :र10?#? �='?(9.? �ी ___________ /�:ल? 
o0�? %K। =: 6 �&9�-1 1966 9O 17 /?�ा 1967 $� 9m? /O 
%K। 

 

A. +:लI B. ?9ू1I 

C. ?I91I D. +?�ं=I ं
 

Q35. The first CNG train of India that was introduced to reduce greenhouse gas emission and 

diesel consumption runs between _____________ and __________ of Haryana. This train 

will run on a dual-fuel system. 
 

A. Sonepat, Bhiwani B. Palwal,Jind 

C. Hisar, Sonepat D. Rohtak, Rewari 
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Q35. .?1$ �ी +:लI CNG रO(, ?K :र10?#? �P9 �त⑍9?ा( �1 !I?ल �ी ?+$ �K �/ �1(O �O  �ल� �?लK �ी �� %I, :र10?#? �O  
_____________ �1 __________ �O  -I� �ल$I :P। 0: रO( &K:1I � �'( �#?लI +1 �ल?� ??��I। 

 

A. 9K0I+?, भ.=?0I B. +ल=ल, �I?ं 

C. /:9?1, 9K0I+? D. 1K:?�, 1O=?]I 
 

Q36. The Haryana Forest Department along with Bombay Natural History Society (BNHS) has 

set up a Jatayu Conservation Breeding Centre at _____ to save the three species of 

vultures. 
 

A. Kairu B. Morni 

C. Pinjore D. Zhabua 

Q36. :र10?#? =( �=.?� �O  9?%-9?% -Qo-O (O>(ल �:}रI 9K9?��I (BNHS) (O ��द♍ो䬂 �ी $I( �??�$0ो䬂 �K -�?(O �O  �ल� _____ /O 
?�?0J 9�1�# �?(( �O � �ी }%?+(? �ी :P। 

 

A. �P z B. /K10I 

C. ++�ंL1 D. �-I� 

 

Q37. The main wild life found in the deer park in Hisar district is ____________. 
 

A. Black Buck B. Sangai 

C. Leaf Deer D. Barasingha 

Q37. ____________ �:9?1 �?लO �O  �:1# +?�ा  /O +?0? ??(O =?ल? /J_0 =m0 ?I= :P। 
 

A. �लP� -� B. 9ं�?� 

C. लI, )!01 D. -?1:भ9�ं? 
 

Q38. Which component in computer is known as the heart of computer? 
 

A. Monitor B. Keyboard 

C. Scanner D. Micro processor 
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Q38. �� प⩍0K�1 /O �L( 9O  �� �K, �� प⩍0K�1 �? �&ल, .I �:? ??$? :P? 
 

A. /I-0�1 B. �I-K!? 

C. }�P 01 D. /?�्䵅K �K9O91 
 

Q39. To permanently delete any stored document or movie or file, which shortcut is used? 
 

A. Del B. Shift + Del 

C. Space Bar D. Ctrl + Space bar 

Q39. ��9I .I 9�्䵇:I$ &}$?=O= 0? �,ल㉍/ 0? +?�ल �K, }%?0I z+ 9O :�?(O �O  �ल�, ��9 >Q�ा �� �? �+0K� ��0? ??$? :P? 
 

A. !Oल` B. भ>o� + !Oल 

C. }+O9 -?1 D. Ctrl + }+O9 -?1 
 

Q40. Find the odd-one out in the following: 

Wheel, Radiator, Clutch, Speed 
 

A. Wheel B. Radiator 

C. Speed D. Clutch 

Q40. �(o(�ल�?$ /O 9O 
9��$ �? �0( �1O: 
}:Iल, 1O�!��1, ]ल�, }+I! 

 

A. व㕍:Iल B. 1O)!��1 

C. }+I! D. ]ल� 

 

Q41. Choose the correct option that best expresses a relationship SIMILAR to that expressed in 

the original pair : 

Pen : Stationery :: Cup : ? 
 

A. Saucer B. Porcelain 

C. Crockery D. Tea 
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Q41. 9:I �=�ल㉍+ �J(O ?K /Kल ?K)I ?P9? 9o-m' �&??$? :K: 
+O( : }�O>(1I :: �+ :? 

 

A. 9I91 B. +Kभ9?लO0 

C. ्䵅I�1I D. �?0 

 

Q42. What should come at the place of question mark (?) in the following number series? 

1, 4, 2, 5, 3, 6, 4, 7, ? 
 

A. 5 B. 3 

C. 2 D. 1 

Q42. �(o(�ल�?$ 9�_0? श㙍L�?ल? /O �� ��्䵡 (?) �O  }%?( +1 ]0? :K(? �?�:�? 

1, 4, 2, 5, 3, 6, 4, 7, ? 
 

A. 5 B. 3 

C. 2 D. 1 

 

Q43. If the SPADE is called as SCISSOR, SCISSOR is called as SHOVEL, SHOVEL is called 

as TROWEL, TROWEL is called as BLADE, BLADE is called as WEEDER, and 

WEEDER is called as SPADE. The equipment used to remove weeds from land is called 

as: 
 

A. SCISSOR B. SPADE 

C. BLADE D. WEEDER 

Q43. 0�& �J &?ल �K �ै䠂 �I �:? ??$? :P, �ै䠂 �I �K ,?=)? �:? ??$? :P, ,?=)O �K �1(I �:? ??$? :P, �1(I �K बⱍलO! �:? ??$? :P, बⱍलO! 

�K =I!1 �:? ??$? :P, �1 =I!1 �K �J &?ल �:? ??$? :P $K ?/I( 9O  ?9,K 9 �K :�?(O �O  �ल� �}$O/?ल ��� ??(O =?लO �+�1# �K 
]0? �:? ??$? :P? 

 

A. �ै䠂 �I B. �I ??ल 

C. �लO! D. =I!1 
 

Q44. Two numbers are in the ratio of 4 : 5. The first number is 60. What is the other number? 
 

A. 55 B. 65 

C. 68 D. 75 
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Q44. &K 9�_0?� � �? 
(J+?$ 4 : 5 :P। +:लI 9�_0? 60 :P। &K91I 9�_0? ��$(I :K�I? 
 

A. 55 B. 65 

C. 68 D. 75 

 

Q45. Birju can dig a well in 6 days while Ramu takes 8 days do the same. They dug the well 

together and earned Rs. 78,260. Find each of their shares on the amount received. 
 

A. Birju's share = Rs. 33,540; Ramu's Share = Rs. 
44,720 

B. Birju's share = Rs. 44,720; Ramu's Share = Rs. 
33,540 

C. Birju's share = Rs. 28,460; Ramu's Share = Rs. 
49,800 

D. Birju's share = Rs. 49,800; Ramu's Share = 
Rs. 28,460 

Q45. �-1?K 6 �&( /O �� �J�� ?K& 9�$? :P ?-�� 1?/K �K �9O ?K&(O /O 8 �&( ल�$O :ै䠂। �m:ो䬂(O �� 9?% �/ल�1 �J�� ?K&? �1 
78,260 y �/?0?। �?्䵎 1?�> /O �त⑍0O� �ी �:}9O&?1I �? +$? ल�?��। 

 

A. --1� ू�? /:}9? = 33,540 y; 1?/ू �? /:}9? = 44,720 

y 
B. --1�ू �? /:}9? = 44,720 y; 1?/ू �? /:}9? = 33,540 

y 

C. --1� ू�? /:}9? = 28,460 y; 1?/ू �? /:}9? = 49,800 

y 
D. --1�ू �? /:}9? = 49,800 y; 1?/ू �? /:}9? = 28,460 

y 
 

Q46. The length and breadth of a rectangular piece of plot are 50 meter and 30 meter 

respectively. Find the cost of the land if 1 square meter of land costs Rs. 100? 
 

A. Rs. 1,60,000 B. Rs. 1,50,000 

C. Rs. 1,00,000 D. Rs. 75,000 

Q46. �� �0$?�?1 ?/I( �ी ल�-?� �1 �L)?� ि/>� 50 /I�1 �1 30 /I�1 :P। 0�& 1 =�ा /I�1 ?/I( �ी ल?�$ 100 y :K $K +K1I 
?/I( �ी ल?�$ ��$(I :K�I? 

 

A. 1,60,000 y B. 1,50,000 y 

C. 1,00,000 y D. 75,000 y 
 

Q47. If Mohan makes a profit of 25% on the selling price of Rs. 100, what is his percentage of 

profit on cost price? 
 

A. 20% B. 25% 

C. 33 1/3% D. 12 1/5% 
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Q47. 0�& /K:( 100 y+0O �O  �-िी /Kल㉍0 +1 25% �? ल?. �/?$? :P $K ल?�$ /Kल㉍0 +1 �9�O  ल?. �? ��$>$ ��$(? :P? 
 

A. 20% B. 25% 

C. 33 1/3% D. 12 1/5% 

 

Q48. Images that cannot be captured on a screen are called ___________. 
 

A. Real images B. Virtual images 

C. Inverted images D. Reflected images 

Q48. �� +1&O +1 ( �P प⩍�1 �ी ?? 9�(O =?लI ��} �K _________ �:? ??$? :P। 
 

A. 
9लI ��्䵔 B. �.?9I ��्䵔 

C. �ल㉍�I ��्䵔 D. �-?---ं-? ��्䵔 
 

Q49. Acids turn blue litmus to ___________. 
 

A. Green B. Yellow 

C. Red D. White 

Q49. ��9!, (IलO �ल�/9 �K __________ �1 &O$? :P। 
 

A. :1? B. +Iल? 

C. ल?ल D. 9,O ? 
 

Q50. The pointed teeth in mammalian oral anatomy are called __________. 
 

A. Canines B. Molars 

C. Premolars D. Incisors 

Q50. }$('?र10ो䬂 �O  /J�: �ी 1�(? /O (J�ीलO &?�$ �K _________ �:? ??$? :P। 
 

A. �I ]�1 B. ??? 

C. 
्䵇??? D. �ृm?� 
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Q51. 

 
What does the image indicate? 

 

A. Corrosive B. Radioactive 

C. High voltage D. Risk of explosion 

Q51. 

 
&I �0I ��= ]0? ����$ �1$I :P? 

 

A. 9ं्䵌?1� B. 1O)!0K//ी 

C. �चᩍ� =Kल㉍�O� D. +=},K� �? �?1? 
 

Q52. Which one of the following materials come under class B fire? 
 

A. Wood B. Transformers 

C. Propane D. Cooking oils 

Q52. �(o(�ल�?$ /O 9O �L( 9I 9?/्䵇I ��? B �� �O  $:$ �$I :P? 
 

A. ल�]I B. र?m9फ़I/?1 

C. �K+O0 D. �?0? +�?0O �O  ?Oल 
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Q53. Which one of the following PPEs is used for foot protection? 
 

A. Hard Hat B. Safety Glass 

C. Safety Boots D. Face Mask 

Q53. �(o(�ल�?$ /O 9O �L( 9? PPE (}0�ि�$ 9J1�? �+�1#) +??= �ी 9J1�? �O  �ल� �+0K� ��0? ??$? :P? 
 

A. :?!? :P� B. 9Oo�I _ल?9 

C. 9Oo�I -�ू D. ,O 9 /?}� 

 

Q54. Which one of the following is NOT the type of fall Protection for the construction 

industry? 
 

A. Chain brake B. Positioning 

C. Fall Arrest D. Suspension 

Q54. �(o(�ल�?$ /O 9O �L( 9? �(/?ा# �oK� /O ��1(O 9O 9J1�? �O  �ल� �? ��?1 नही䀂 :P? 
 

A. �P0 }O� B. +K��>-0�ं 

C. ,Iल 
1O}� D. 9}+े䜂>0 

 

Q55. What is the SI unit of volumetric flow rate of water? 
 

A. m/s B. m/s2 

C. s/m2 D. m3/s 

Q55. +?(I �ी �0$(�/$I0 �=?: �ी SI ��?� ]0? :P? 
 

A. m/s B. m/s2 

C. s/m2 D. m3/s 

 

Q56. A circular tank has 50cm diameter. Calculate the circumference of the tank? 
 

A. 157.08 cm B. 314.16 cm 

C. 34.25 cm D. 248.57 cm 
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Q56. �� �Kल?�?1 �ै䠂� �?9�? }0?9 50 cm :P। �9 �ै䠂� �ी +र1�' �ी �#(? �1O? 
 

A. 157.08 cm B. 314.16 cm 

C. 34.25 cm D. 248.57 cm 

 

Q57. Calculate the pressure produced by a force of 1000 N acting on an area of 5.0 m2. 
 

A. 550 Pa B. 500 Pa 

C. 200 Pa D. 800 Pa 

Q57. 5.0 m2 �O  �O} +1 1000 N /?+ �O  ल�?0O �� �O  -ल �?1? �(�/ा$ &-?= �ी �#(? �1O। 
 

A. 550 +?}�ल B. 500 +?}�ल 

C. 200 +?}�ल D. 800 +?}�ल 

 

Q58. Which one of the following sewer systems is used for final discharge of waste water? 
 

A. Main Sewer B. Outfall Sewer 

C. Trunk Sewer D. Branch Sewer 

Q58. �(o(�ल�?$ /O 9O �L( 9I 9I=1 �#?लI 
+�>� ?ल �O  
��$/ �(=ा:( �O  �ल� �+0K� �ी ??$I :P? 
 

A. /O0 9I=1 B. ��टὍ,Iल 9I=1 

C. रं� 9I=1 D. }?�ं 9I=1 
 

Q59. Which one of the given components is used to protect equipment sensitive to dirt and 

other particles from water? 
 

A. Strainers B. Traps 

C. Expansion Joints D. Eccentric Reducers 

Q59. �&� ��  ��ो䬂 /O 9O ��9  �� �? �+0K� �( �+�1#ो䬂 �K -�?(O �O  �ल� ��0? ??$? :P ?K ��&�I, +?(I �1 
m0 �#ो䬂 �O  ��$ 
9�=O&(>Iल :K$O :ै䠂? 

 

A. �ल-00ो䬂 �? B. +?>ो䬂 �? 

C. �91# 9ं�/0ो䬂 �? D. �m�े䜂 ्䵖I0 
+�?-0्䵔ो䬂 
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Q60. What is the equivalent length of a fully open 4 inch. diameter gate valve? 
 

A. 20 ft B. 24 ft 

C. 16 ft D. 12 ft 

Q60. +K1I $1: 9O ?JलO 4 ��� }0?9 �O� =?ल㉍= �O  -1?-1 ल�-?� ]0? :P? 
 

A. 20 ,I� B. 24 ,I� 

C. 16 ,I� D. 12 ,I� 
 

Q61. 

 
What does the image indicate? 

 

A. Saddle Tee B. Trap 

C. Nipple D. Coupling 

Q61. 

 
&I �0I ��= ]0? ����$ �1$I :P? 

 

A. 9P!ल �I B. रP+ (+?>) 

C. -0o+ल D. �+भल�ं (0I_/0) 

 

Q62. Which one of the following fittings is used to secure the pipe? 
 

A. Pipe strap B. Hose Clamp 

C. Pipe Clamp D. Pipe adjuster 

Q62. �(o(�ल�?$ /O 9O �L( 9? �,���� +?�+ �K 9J1��$ �1(O �O  �ल� �+0K� ��0? ??$? :P? 
 

A. +?�+ }रP+ B. :Kज᰼ +?�+ 

C. +?�+ ]लै䠂+ D. +?�+ �!�}�1 
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Q63. Which one of the following tools is used to remove burrs from the inside of the pipe? 
 

A. Flaring Tool B. Seat Dresser 

C. Reamer D. Tubing Cutter 

Q63. �(o(�ल�?$ /O 9O �L( 9? �+�1# +?�+ �O  
�&1 9O -1ा �K :�?(O �O  �ल� �+0K� ��0? ??$? :P? 
 

A. oलO091�ं �+�1# B. 9I� ्䵑O91 

C. 1I/1 D. टὍ0-ू-�ं ��1 
 

Q64. Which one of the following valves is used to control volume of flow? 
 

A. Gate Valve B. Globe Valve 

C. Check Valve D. Stop & Waste Valve 

Q64. �(o( /O 9O ��9 =?ल㉍= �? �+0K� �=?: �ी /?}? �K �(0��}$ �1(O �O  �ल� ��0? ??$? :P? 
 

A. �O� =?ल㉍= B. _लK- =?ल㉍= 

C. �O� =?ल㉍= D. }�I+ �ं! =O}� =?ल㉍= 

 

Q65. Which one of the following lines is used to convey storm water in vertical or horizontal 

direction? 
 

A. Slope B. Stack 

C. Ladder D. Interceptor 

Q65. �(o(�ल�?$ /O 9O ��9 1O?? �? �+0K� $K,?( �O  +?(I �K �o=?ा'1 0? �P�$? �&>? /O }0ि �1(O �O  �ल� ��0? ??$? :P? 
 

A. }लK+ B. }�P� 

C. लP!1 D. �ं�19Oo�1 
 

Q66. Which one of the following drain water contains greases, chemicals, and toxic liquids? 
 

A. Yellow water B. Black water 

C. Brown water D. Grey water 
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Q66. �(o(�ल�?$ /O 9O ��9 (?लI �O  +?(I /O ्䵇I9, 19?0( �1 ?:1IलO $1ल +&?%ा :K$O :ै䠂? 
 

A. +Iल? +?0I ( 0लK =?�1) B. �?ल? +?0I ( �लP� =?�1) 

C. .1ू? +?0I (}?�0 =?�1) D. 19K� 1, /Iल?� �/? �? +?0I (्䵇O =?�1) 
 

Q67. Which one of the following is the extension from the building drain to the public sewer? 
 

A. Outfall sewer B. Trunk sewer 

C. Building sewer D. Main sewer 

Q67. �(o(�ल�?$ /O 9O �L( 9? .=( (?लI 9O 9?=ा?�(� 9I=1 $� �? �=}$?1 :P? 
 

A. ���,Iल 9I=1 B. रं� 9I=1 

C. --�ल㉍!�ं 9I=1 D. /O0 9I=1 
 

Q68. Which one of the following pipes is used for removal of soil and waste drain? 
 

A. Cast Iron (CI) pipes B. Ductile iron pipes 

C. Steel pipes D. Asbestos Cement (AC) pipes 

Q68. �(o(�ल�?$ /O 9O �L( 9? +?�+ �/्䴾I �1 
+�>� �(�?9 �K :�?(O �O  �ल� �+0K� ��0? ??$? :P? 
 

A. �चᩍ�O लK:O �O  (CI) +?�+ B. 0/0I0 लK:O �O  +?�+ 

C. �}+?? �O  +?�+ D. �}-O}�9 9I/े䜂� �O  (�9I) +?�+ 

 

Q69. Which one the following components is used to produces a volume of fluid flow at a 

certain pressure? 
 

A. Filters B. Pump 

C. Valves D. Supply Tanks 

Q69. �� �(�?$ &-?= /O �= �=?: �ी /?}? �त⑍+m( �1(O �O  �ल� �(o(�ल�?$ /O 9O ��9  �� �? �+0K� ��0? ??$? :P? 
 

A. +,ल㉍�1 �? B. +ं+ �? 

C. =?ल㉍=ो䬂 �? D. �+-ू?? �ै䠂�ो䬂 �? 
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Q70. 

 
What does the image indicate? 

 

A. Gate valve B. Check valve 

C. Pressure relief valve D. Globe valve 

Q70. 

 
&I �0I ��= ]0? ����$ �1$I :P? 

 

A. �O� =?ल㉍= B. �O� =?ल㉍= 

C. �O>1 91लI, =?ल㉍= D. _लK- =?ल㉍= 
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Q71. Which one of the following pipes is used to provide circulation of air to and from any part 

of the drainage system? 
 

A. Individual Vent B. Common Vent 

C. Stack vent D. Vent Stack 

Q71. ?ल �(�?9I �#?लI �O  ��9I .I �:}9O �K :=? �? 9��ल( �&?( �1(O �O  �ल� �(o(�ल�?$ /O 9O ��9 +?�+ �? �+0K� ��0? ??$? :P? 
 

A. �ं)!+=�I
ल =े䜂� B. �I/0 =े䜂� 

C. }�P� =े䜂� D. =े䜂� }�P� 

 

Q72. Which one of the following is a portion of the drainpipe between the trap and the vent? 
 

A. Revent B. Trap arm 

C. Wet vent D. Vent extension 

Q72. �(o(�ल�?$ /O 9O �L( +?> (रP+) �1 =O� �O  -I� ्䵑O(+?�+ �? �� �:}9? :P? 
 

A. 1I=े䜂� B. रP+ �/? 

C. =O� =े䜂� D. =े䜂� �]9�े䜂>0 

 

Q73. Which pressure of a constituent is a measure of its tendency to evaporate? 
 

A. Vapor pressure B. Vacuum pressure 

C. Absolute pressure D. Gauge pressure 

Q73. 9�1�� ( ��) �? �L( 9? &-?= =?��+$ :K(O �ी �9�ी �=L�m �? /?+� :P? 
 

A. =?�+ ?-?= B. =P]0ू/ (-0=???) ?-?= 

C. -01+O्䵌 ?-?= D. �O� ?-?= 
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Q74. 

 
What does the image indicate? 

 

A. Common Vent B. Battery of Fixture Vent 

C. Circuit Vent D. Wet Vent 

Q74. 

 
&I �0I ��= ]0? ����$ �1$I :P? 

 

A. �I/0 =े䜂� B. -P�1I �I +,]9�1 =े䜂� 

C. 9+�? � =े䜂� D. =O� =े䜂� 
 

Q75. What is the loss of energy due to viscosity, in water flows called as? 
 

A. Bend in pipe B. Sudden expansion 

C. Sudden contraction D. Frictional Pressure 

Q75. ?ल �=?:ो䬂 /O �0?($? �O  �?1# �??ा �? ?K (J�9?( :K$? :P, �9O ]0? �:? ??$? :P? 
 

A. +?�+ /े䜂 -ं� (�I�?=) (-े䜂! �0 +?�+) B. 
�?0� �91# (9!0 �]}+Pm>0) 

C. 
�?0� 9�ंI �0 (9!0 �mरP]>0) D.  }?# �? ?-?= ( +?]>0ल �O>1) 
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Q76. Which one of the following is used to eliminate the water noise due to harmful over 

pressure inside the system? 
 

A. Trap B. Coupling 

C. Valve D. Water hammer arrestor 

Q76. �#?लI �O  
�&1 :?�(�?1� &-?= �O  �?1# +?(I �O  >K1 �K ?त⑍/ �1(O �O  �ल� �(o( /O 9O ��9�? �+0K� ��0? ??$? :P? 
 

A. रP+ B. �+भल�ं 

C. =?ल㉍= D. =?�1 :P/1 
1े}�1 
 

Q77. 

 
What does the image indicate? 

 

A. Slug B. Bubble 

C. Wavy D. Spray 

Q77. 

 
&I �0I ��= ]0? ����$ �1$I :P? 

 

A. }ल� B. --ल 

C. =P=I D. }�O 
 

Q78. Which one of the following is NOT a type of water hammer arrestor? 
 

A. Single chamber water hammer arrestor B. Max end stop water hammer arrestor 

C. Hose bib style water hammer arrestor D. Mini end stop water hammer arrestor 
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Q78. �(o(�ल�?$ /O 9O �L( 9? �� ��?1 �? =?�1 :P/1 
1O}�1 नही䀂 :P? 
 

A. भ9�ंल �ै䠂-1 =I�1 :P/1 
1े}�1 B. /P]9 �o! }�I+ =?�1 :P/1 
1े}�1 

C. :Kज᰼ --- }�?�ल =?�1 :P/1 
1े}�1 D. भ/0I �o! }�I+ =?�1 :P/1 
1े}�1 
 

Q79. 

 
What does the image indicate? 

 

A. Swivel P-trap B. Tubular P-trap 

C. Drum trap D. S-trap 

Q79. 

 
&I �0I ��= ]0? ����$ �1$I :P? 

 

A. �}==ल P-रP+ B. टὍ0-ूल1 P-रP+ 

C. ्䵑/ रP+ D. S-रP+ 

 

Q80. Which one of the following is a measure of the calcium salts dissolved in water? 
 

A. Calcium Hardness B. Aquifer 

C. Bromine D. Chlorination 
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Q80. �(o(�ल�?$ /O 9O �L( 9? +?(I /O  Jल(O =?लO �P �ल㉍>0/ ल=# �? /?+ :P? 
 

A. �P �ल㉍>0/ �I � K1?? B. ��]=,?01 

C. }Kभ/0 D. ]लK1I0I�1# 

 

Q81. Which one of the following traps is used in kitchen sinks? 
 

A. Tubular P-trap B. S-trap 

C. Drum trap D. Swivel P-trap 

Q81. �(o(�ल�?$ /O 9O �L( 9? रP+ 19K� �O  �9�� /O �+0K� ��0? ??$? :P? 
 

A. टὍ0-ूल1 P-रP+ B. S-रP+ 

C. ्䵑/ रP+ D. �}==ल P-रP+ 

 

Q82. Which one of the following processes breaks down organic waste into simpler elemental 

form? 
 

A. Pathogen B. Oxidizing 

C. Pre-chlorination D. Sanitizer 

Q82. �(o(�ल�?$ /O 9O �L( 9I ��ि0? �?-ा�(� 
+�>� �K 91ल $?�त⑍=� z+ /O $K)$I :P? 
 

A. 1K�ज᰼0= (+P-I�O0) B. �]9I�1# (��]9!?���ं�) 

C. +=ू? ]लK1I0I�1# (�I-]लK1I0O>0) D. �्䵌?ल� (9P-0�?�ज᰼1) 
 

Q83. Which one of the following equipments is hung from walls? 
 

A. Sink B. Lavatory 

C. Bathtub D. Dishwasher 

Q83. �(o(�ल�?$ /O 9O �L( 9? �+�1# &I=?1ो䬂 9O ल��? �&0? ??$? :P? 
 

A. भ9�ं B. लP=�K1I 

C. -?-�- D. )!>=I>1 
 

www.mseducationtv.com



 

Adv. No. 12/2019, Cat No. 13, Plumber Instructor (Theory), 

SKIL DEVELOPMENT AND INDUSTRIAL TRAINING DEPARTMENT, HARYANA 

Morning Session 
 

December 17, 2019  Page 28 of 30 

 

Q84. Which one of the following components is used to connect shower head and pipe? 
 

A. Shower arm B. Shower tap 

C. Shower Prefabricated Stall D. Shower valve 

Q84. �(o(�ल�?$ /O 9O �L( 9?  �� >Q=1 �91 �1 +?�+ �K ?K)(O �O  �ल� �+0K� ��0? ??$? :P? 
 

A. >?=1 �/? B. >?=1 �P+ 

C. >?=1 �I,P -}�P /�! }�?ल D. >?=1 =?ल㉍= 

 

Q85. 

 
What does the image indicate? 

 

A. Wall-Hung urinal B. Pedestal urinal 

C. Trough urinal D. Stall urinal 

Q85. 

 
&I �0I ��= ]0? ����$ �1$I :P? 

 

A. ?I=?1 9O ल��? :I� /्ू䵔+?्䵔 (0I10ल) B. +O!O}�ल /्ू䵔+?्䵔 (0I10ल) 

C. �?? /्ू䵔+?्䵔 (0I10ल) D. }�?ल /्ू䵔+?्䵔 (0I10ल) 
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Q86. Which one of the following devices is set to open on a temperature or a pressure rise of an 

unsafe limit in gas water heater? 
 

A. Pressure relief valve B. Globe valve 

C. Pressure temperature release valve D. Check valve 

Q86. �(o(�ल�?$ /O 9O �L( 9? �+�1# �P9 =Q�1 :I�1 /O $?+/?( 0? &-?= /O 
9J1��$ 9I/? $� �ी =L�द♍ �O  �ल� ?Jल? 1?? ??$? :P? 
 

A. �O>1 91लI, =?ल㉍= B. _लK- =?ल㉍= 

C. �O>1 �Oቘ墚�O�1 91लI, =?ल㉍= D. �O� =?ल㉍= 

 

Q87. 

 
What does the image indicate? 

 

A. Momentum Siphonage B. Back Pressure 

C. Direct Siphonage D. Capillary Action 

Q87. 

 
&I �0I ��= ]0? ����$ �1$I :P? 

 

A. /K/े䜂�/ 9?�फ़K0O� B. -P� �O>1 

C. !?01O]� 9?�फ़K0O� D. �P +लO1I �]>0 
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Q88. Which one of the following is NOT a fixture? 
 

A. Sinks B. Tubs 

C. Air purifier D. Toilet 

Q88. �(o(�ल�?$ /O 9O �L( 9? �� �,]}�1 नही䀂 :P? 
 

A. भ9�ं B. �- 

C. �01 o01ूI,?01 D. �I0लO� 
 

Q89. Which one of the following devices is NOT used for prevention of backflow? 
 

A. Atmospheric vacuum breaker B. Pressure vacuum breaker 

C. Pressure relief valve D. Double check valve 

Q89. -P�़㱸लK �ी 1K�%?/ �O  �ल� �(o(�ल�?$ /O 9O ��9 �+�1# �? �+0K� नही䀂 ��0? ??$? :P? 
 

A. =?0I/ं!लI0 (�टὍ/},O 91�) =P]0ू/ }O�1 B. �O>1 =P]0ू/ }O�1 

C. �O>1 91लI, =?ल㉍= D. !-ल �O� =?ल㉍= 

 

Q90. Which one of the following is caused by a foreign object lodged in the trap? 
 

A. Inadequate Venting B. Evaporation 

C. Capillary Action D. Back Pressure 

Q90. �(o(�ल�?$ /O 9O �L( रP+ /O ��9I -?्䵨 =}$J �O  ,� 9(O �O  �?1# :K$? :P? 
 

A. 
+0??o? =े䜂/��ं B. =?�+I�1# 

C. �P +लO1I �]>0 D. -P� �O>1 
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